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Formulario 

1) gY = (Yt - Yt-1) / Yt-1 

2) L = N + U 

3) u = U / L 

4) Pt = €Yt / Yt 

5) π = (Pt - Pt-1) / Pt-1 

6) Z ≡ C + I + G + X - IM 

7) YD ≡ Y - T 

8) C = C (YD) 

9) C = c0 + c1 (Y - T) 

10) Y = Z = c0 + c1 (Y - T) + Ī + G 

11) Y = 1 / (1 - c1) (c0 + Ī + G - c1T) 

12) Z = c1Y + (c0 + Ī + G - c1T) 

13) S = - c0 + (1 - c1) (Y - T) 

14) Md = €YL(i) 

15) Ms = M 

16) M = €YL(i) 
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17) i = (€100 - €PT) / €PT 

18) €PT = €100 / (1 + i) 

19) Hd = θMd = θ€YL(i) 

20) H = θ€YL(i) 

21) Y = C (Y - T) + I (Y, i) + G 

22) M / P = YL(i) 

23) i = ī 

24) πe
t+1 = (Pe

t+1 - Pt) / Pt 

25) rt ≈ it - πe
t+1 

26) Y = C (Y - T) + I (Y, i - πe + x) + G 

27) Y = C (Y - T) + I (Y, r + x) + G 
            _ 

28) r = r 

29) W = Pe
 F (u, z) 

30) Y = AN 

31) Y = N 

32) P = (1 + m) W 

33) W / P = F (u, z) 

34) W / P = 1 / (1 + m) 
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35) F (un , z) = 1 / (1 + m) 

36) F (u, z) = 1 - αu + z 

37) t = t
e + (m + z) - αut 

                      _ 

38) t = t + (m + z) - αut 
                               _ 

39) t
e = (1 - θ) + θt-1 

                             _ 

40) t = (1 - θ) + θt-1 + (m + z) - αut 

41) t - t-1 = (m + z) - αut 

42) un = (m + z) / α 

43) t - t
e = - α(ut - un) 


